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3. When it is about the same distance from the Sun ¢
as is Jupiter, a spacecraft on a mission to the outer
planets has a speed that is 1.5 times the speed of
Jupiter in its orbit. Which of the following describes

the orbit of the spacecraft about the Sun? (/( = E
(A) Spiral : K v o
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13 . A particle of mass m is acted on by a harmc::é:_'/\ [ /}
22

force with potential energy function V(x) = ) .
(a one-dimensional simple harmonic oscillator). If ] u=)k¢‘
there is a wall at x=0 sothat V=9 for x <0, 1

then the energy levels are equal to
(A) 0, ho, 2ho, ...
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0. A body of mass m with specific heat C at te
perature 500 K is brought into contact with an
|dentlcal body at temperature 100 K, and the t

- ed from their surroundings. The change\
m the system is equal to

(A) (473)mC

(B) mClIn(9/5)

(C) mCin(3) @
(D) -mCln(5/3)

(E) 0
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2\. For an ideal diatomic gas in thermal equilibrium,
the ratio of the molar heat capacity at constant
volume at very high temperatures to that at very

(A) 1
(B) 513

o>
/3

(B) 3

g ool

ca(2)

Co
T2\

low temperatures is equal to
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